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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 66745579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How do vou select an entire column in MS Excel 2013?

Options:
1 # Select Edit = Select > column from the menu

-  Click the column heading letter

_— Hold down the key as you click anywhere in the column

, » Hold down the key as you click anywhere in the column

Question Number : 1 Question Id : 66745579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 66745580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
tat comtains the themnes group, which allows yvou to change the background of a slide in M3 PowerPoint 201 6.

Options:
1 % Slide show
- o Design

= % Insert

4 ® View



Question Number : 2 Question Id : 66745580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 66745581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is Linux?
Options:

, = Aninput device

> # A storage device

5 Al operating system

4 w Anoutput device

Question Number : 3 Question Id : 66745581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 66745582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A diagmostic testing sequence of a computer, that deterimimes whether all mpat and output devices are properly working. 15
called:

Options:

, » Rebooting

> « POST

5 ® Scanning

, w Defragmentation

Question Number : 4 Question Id : 66745582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 66745583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the key combination to display the Format Cells dialog box in MS Excel?

Options:

1 % Ctrl+9
> % Ctrl+0
3 % Ctrl+8
4 « Ctrl+1

Question Number : 5 Question Id : 66745583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% Ctrl + 9
. % Ctrl + 0
2 % Ctrl + 8

4w Ctrl + 1

Question Number : 6 Question Id : 66745584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The utility used to increase the access speed of programs is called
Options:

| « Disk defragmenter

- % Disk Cleanup

- % Disk Formatter

4 = Disk fragmenter

Question Number : 6 Question Id : 66745584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question |d : 66745585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The kevboard keys like Caps Lock turns which of the following feature on or off?

Options:



1 % Function
> % Combination
5 o loggle

4 % Multimedia

Question Number : 7 Question Id : 66745585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 66745586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is designed to prevent and remove spyware?
Options:

1 # User Account Control

S

Windows Icons

ra
®

= « Windows Defender

G

Parental controls

o
®

Question Number : 8 Question Id : 66745586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 66745587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A website’s main page is called its:
Options:

, « home page

- ® DrOWser page

5 w search page

4 % book mark

Question Number : 9 Question Id : 66745587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 66745588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the context of animations. what is a trigger?

I. An action button that advances to the next slide
II. An item on the slide that performs an action when clicked

[TII. The name of a motion path

Options:



, % Onlyl

o » OnlylI
. % OnlyIII

4 % LIland I

Question Number : 10 Question Id : 66745588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 66745589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A joystick is primarily used to/for
Options:

, % Dprint text

-  Computer gaming
= % enter text

4, w draw picture

Question Number : 11 Question Id : 66745589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 66745590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many choices are there in binary choice?
Options:

1 % One

> o TWo
- % It depends upon the amount of memory in a computer.

4 » Itdepends upon the speed of the processor

Question Number : 12 Question Id : 66745590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 66745591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When creating a word-processed docurnent, which siep involves the user changing how wornds on the page appear. both on
the screen and in printed form?

Options:



, = Editing text

- % Inserting tables and indexes
-  Formatting text

4, % Proofing documents

Question Number : 13 Question Id : 66745591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 14 Question Id : 66745592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Word 2016 automatically places a default left aligned tab stop at every:

Options:
1 & 0.27

> % 047
s % 037

i 0S5

Question Number : 14 Question Id : 66745592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 15 Question Id : 66745593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Excel 2016. you can sum a large range of data by simply selecting a tool button called

Options:
1 % Auto fill

- % Auto Correct
= % Auto Format

4 « Auto sum

Question Number : 15 Question Id : 66745593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, » FEd: &0 (Auto fill)

o~ HEd: ﬁﬂﬁ (Auto Correct)

5 % Fad: FTEEIUT (Auto Format)

. v T (Auto sum)

Question Number : 16 Question Id : 66745594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which tab in MS Word 2016 provides options for changing fonts and their sizes?

Options:
1 ® View

- o Home

3 % Preview



, = Pagelayout

Question Number : 16 Question Id : 66745594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Word 2016 & #iF &7 5 Wiee 3T 305 HTFX F 6 F [ddeT 9eId il 272
Options:

1.%35{

2.v"3}m

g

T & o,

4 % 95 AT

Question Number : 17 Question Id : 66745595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a presentation graphics software?
Options:

1 #% MS Windows

®

&,

> « MS PowerPoint

MS Excel

Ll
®

MS Word

o
®

Question Number : 17 Question Id : 66745595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 = MS Windows

> « MS PowerPoint
2 # MS Excel

4 # MS Word



Question Number : 18 Question Id : 66745596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following handles the interconnection between most of the devices and the CPU?

Options:

, % Northbridge

> ® RAM
s # ROM

4 « Southbridge

Question Number : 18 Question Id : 66745596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 66745597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When Word gets loaded, the opening screen displays a document named:

Options:
1 « Documentl

- % Document
= % Docl

4 % No document name is displayed

Question Number : 19 Question Id : 66745597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 66745598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TIFF stands for:

Options:

1 % Total Inclusion File Format.

> of Tagged Interchange File Format.

% % Table Index File Format.

4 % Temporary Instruction File Format.

Question Number : 20 Question Id : 66745598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 66745599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

How is it possible that both programs and data can be stored on the same floppy disk?
Options:

, % Afloppy disk has two sides, one for data and one for the programs.



o  Programs and data are both software, and both can be stored on any memory device.

- u A floppy disk has to be formatted for one or for the other.

, # Floppy disks can only store data, not programs.

Question Number : 21 Question Id : 66745599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 22 Question Id : 667455100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You can a search by providing more information.

Options:
1 « refine

> w expand

= % load

4 % query

Question Number : 22 Question Id : 667455100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 667455101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the use of Registers in CPU?

Options:

, w Perform the basic arithmetic operations and comparisons.

Ly

Obtain instructions from the program stored in the main mamory. interpress the instuctions, and izaues elactrical simals.

2 W
Used to quickly accept, store, and transfer data and instructions that are being used immediately by the CPU.

, » Generate signals

Question Number : 23 Question Id : 667455101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 667455102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a valid type of plotter?

Options:
1 % Drum Plotter

> # Flat-Bed Plotter



= « Line Plotter

4 % Cutting Plotter

Question Number : 24 Question Id : 667455102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 667455103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To start a new line in the same cell of an MS Excel worksheet. use keys together.
Options:
1 B Alt +E

> « Alt + Enter
o W Alt +N

4 % Alt+ Shift

Question Number : 25 Question Id : 667455103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
i » Alt*E

> « Alt + Enter

2w Alt + N



. % Alt + Shift

Question Number : 26 Question Id : 667455104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS Word, pressing key for three times selects a sentence.

Options:
1 ® F2

o> R F6
=z B F7
4« F8

Question Number : 26 Question Id : 667455104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 27 Question Id : 667455105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Verification of a login name and password is known as

Options:

, % configuration

- » accessibility
= « authentication

4 % authorization

Question Number : 27 Question Id : 667455105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 28 Question Id : 667455106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Floppy disks which are made from flexible plastic material are also called:

Options:
1 % Hard disks

> u High-density disks
3 « Diskettes

4 » Templates

Question Number : 28 Question Id : 667455106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 29 Question Id : 667455107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Dynamic memory cells store data bits in

Options:



1 # diode
> % resistor
-  capacitor

4 » flip-flop

Question Number : 29 Question Id : 667455107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 667455108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In a network AAA stands for:

Options:

. w Authentication Accessibility Accounting

- » Authorisation Accessibility Accounting
-  Authentication Authorization Accounting

4 % Accessibility Analysis Accounting

Question Number : 30 Question Id : 667455108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
, = Authentication Accessibility Accounting



- » Authorisation Accessibility Accounting
- « Authentication Authorization Accounting

4 » Accessibility Analysis Accounting

Question Number : 31 Question Id : 667455109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which type of omnidirectional antenna is found in WAP?

Options:
; w» Unipole

> % Omni
= B RF

4 « Dipole

Question Number : 31 Question Id : 667455109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 32 Question Id : 667455110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which virus hides itself from detection by antivirus software?

Options:
1 « Stealth virus

> % Parasitic virus



- % Boot sector virus

4 % Polymorphic virus

Question Number : 32 Question Id : 667455110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 33 Question Id : 667455111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Beep codes are generated by:

Options:
1 ® RTC

> « POST
s % CMOS

4 % Pen drives

Question Number : 33 Question Id : 667455111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
&9 FF FF F @R 39 BT 87

Options:

, ® RTC

> o POST

5 % CMOS
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Question Number : 34 Question Id : 667455112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
refers to transfer of information from the local system to the remote system.

Options:

; % Uplink
- % Download

s « Upload

4 % Downlink

Question Number : 34 Question Id : 667455112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 667455113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which log tracks both successful and failed events within application?

Options:
w Driver log

1
-  Application log

- % Application error log

4 % Application event log



Question Number : 35 Question Id : 667455113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 667455114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following services of Google is used for creating events?
Options:

, « Google Calendar

» u Google news
5 % Google plan

4 w Google Maps
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Question Number : 37 Question Id : 667455115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which file format is used to save Sony DV voice file?

Options:
1 #% sdv

> o dvf
2 # sdvv

4 ® sdvvf

Question Number : 37 Question Id : 667455115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T S 95H BISA H Heeld & (o0 Sl T BSd BHC 1 39497 &7 Jar 272
Options:

1 % sdv

o« avf
2 % sdwv

4 % sdwvf

Question Number : 38 Question Id : 667455116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which file format is used to save Graphics interchange file format?

Options:
iff

f =]

1 %

Question Number : 38 Question Id : 667455116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TMMhFH S B BIAT Pl el F (0T Hid T ISl BIAC FT T4 AT T 87

Options:



| % giff
> v 9
_— gfi

Question Number : 39 Question Id : 667455117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the key combination to open review tab?

Options:

1 ® Cuul+R
> o Alt+R
3 & Alt+S
4 ® Alt-W

Question Number : 39 Question Id : 667455117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mhﬁ@ﬂﬁ%%@iﬁﬁ&ﬁdﬁ FaT 7

Options:

. % Ctl + R

. ¢ Alt + R
2 % Alt + S

L% Alt + W

Question Number : 40 Question Id : 667455118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the key combination to go to the end of a document in an Open Office Writer?

Options:
1 % Alt+End

> « Cirl+End



z # Alt+end+d

4 % Ctrl+end+d

Question Number : 40 Question Id : 667455118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Open Office Writer & g¥aras & 39 # 9 & ¢ &=l wais= &r g2

Options:

. % Alt + End

> « Cirl + End
z % At + End + D

4 % Cirl + End + D

Question Number : 41 Question Id : 667455119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Computer monitors are also known as:

Options:
, % Display unit
-  visual display unit

- % Virtual display unit

4 % Video display unit

Question Number : 41 Question Id : 667455119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fegel Al # e & 7 57 @ & o s Jrer 22

Options:

|« TET FFR
. » T 93U FFS

L« HTTHN SEUT SHS



, « ST TEIT FFTE

Question Number : 42 Question Id : 667455120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MICR detects how many digits?

Options:
1 ® 5

4 ¢ 10

Question Number : 42 Question Id : 667455120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MICR f&raer 376 &7 9aT &°TaT 87
Options:

1 % 5
oo® ?
SR ] 15

4 o 10

Question Number : 43 Question Id : 667455121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Identify the odd one among the following.

Options:
. ® CD/DVD
» » FLOPPY DISK

5 % HARD DISK

4 « BIOS

Question Number : 43 Question Id : 667455121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



forafafaa & ¥ fAvw #r vg= 4
Options:

. » T/ & (CD/IDVD)
o W q’?ﬁtﬁﬁﬁﬁ
2. gré‘%ﬁ

.« BIOS

Question Number : 44 Question Id : 667455122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
High-speed Internet connections are sometimes called connections.

Options:
1 « broad band

> % highband

5 » dial-up

4 % dish

Question Number : 44 Question Id : 667455122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
3=+ TS SeTAC FARIA F Fal-Fedr Fawu off T T B
Options:

- ® 3= a'si'
= % SIPel-FT

g # %QT

Question Number : 45 Question Id : 667455123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FLICKR is an example of storage.

Options:



1 « cloud

off-line

ra
u

- % oOptical

4 % USB

Question Number : 45 Question Id : 667455123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
et (FLICKR) TN &1 T 3EEI0T 2

Options:
1.« Fell35

d

L « HTEoTST
3$é3'ﬁm

. = USB

Question Number : 46 Question Id : 667455124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
port is an asynchronous port through which information transfers in or out one bit at a time.

Options:
1 & PS/2

> « Serial

Parallel

Ll
®

4 ® RJ-11

Question Number : 46 Question Id : 667455124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
¢ T TTHwEE q1E § SRS A # §OT OF WEG ° TF e & Mgl @ WET RS g g
Options:

% PS/2

2. HIRTe



- % TAAG/ AT

4 % RJ-11

Question Number : 47 Question Id : 667455125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is meant by ‘function’ in Microsoft Excel?

Options:
1 + A built-in mathematical formula such as SUM

> # A button on toolbar
% % A menu command

4 % The intersection of row and column where data is entered

Question Number : 47 Question Id : 667455125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Microsoft Excel H ‘Theelel’ T Hdos FT 87

Options:

| v SUM 3@ sfafafea iforda g3

. » AR T T FEA

U A FHES
= # .

, » I AT Flow 1 STTRFAS, @ 32T =t a7 1 7

Question Number : 48 Question Id : 667455126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

WiMAX stands for:

Options:

| « Worldwide Interoperability for Microwave Access

- % World wide independence for Macro Access

- # Wwan Wide Integrity for Microsoft Access



4 % World wide Integrity for Microsoft Access

Question Number : 48 Question Id : 667455126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

WIMAX & faearia & &1 272

Options:

. « Worldwide Interoperability for Microwave Access

, » World wide independence for Macro Access
5 » Wan Wide Integrity for Microsoft Access

, » World wide Integrity for Microsoft Access

Question Number : 49 Question Id : 667455127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
chart is mostly used to display the fluctuation of the stock market in MS Excel.

Options:
1 % Surface

> % Pie
z # XY

4 « Stock

Question Number : 49 Question Id : 667455127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_ ETE T 39T HEeaT MS Excel 3 107 9TAN H 3AH-AEE W NS0T F40 % 0 &ar ST &)
Options:

1_-%3;‘-&;5
gwt“é‘-



Question Number : 50 Question Id : 667455128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

1. Radarcharts i) display the size of items in one data
series proportional to the sum of the items

2. Stock chart ii) plot two groups of numbers as one
series of Xy coordinates

3. Pie chart iii) Compares the aggregate values of
several data series

4. Scatter chart iv) display the fluctuation of stock prices

Options:
| % 1-=(iD). 2-(iv). 3-(3), 4-(iii)

o B 1'(1'1”1}: 2'(iij__ 3'(i:], 4_(1",}
2 B 1-(iv)., 2-(iii). 3-(ii). 4-(1)

4 o 1-(iid). 2-(iv), 3-(i). 4-(i1)

Question Number : 50 Question Id : 667455128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

e 71 AT #:4

1. TER =R i) Hel % INET F TY Al F HAFR
F TH 3 RS H i
gRitaT &

2. T A iy xy & 1 T y@er F w9
H GEATHT & of Hg I T

FLaT
3. U= e iii) T 3T AT F FoT Hedl I
AT FT &

4, TFI I iv) e Tedl A 3AR-T9F H
gefia FaT 2
Options:

w 1), 2-(iv), 3-(i), 4-(iii)
o w 1-(iii), 2<(ii), 3-(i), 4-(iv)

o w 1), 2-Gi), 3(ii), 4-(0)



4 1), 2-(iv), 3-(i), 4-(ii)

Question Number : 51 Question Id : 667455129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortecut key is used to abort a program that has stopped responding?

Options:
| « ALT+F4

> % ALT+F5
5 % ALT +F6

4 % ALT+F7

Question Number : 51 Question Id : 667455129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

form aémhe Fait & 359G 30 9OTH & IE & & BT B T € e F9E @ S w1 598 S
feam 27

Options:

.« ALT + F4

. % ALT + F5
2 % ALT + F6

4 % ALT + F7

Question Number : 52 Question Id : 667455130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Once multiple accounts have been harvested, hackers can for illegal monetary gain.

Options:

, w guide them

- % take them

-  Spam other users

4 % discard them

Question Number : 52 Question Id : 667455130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

| w 3 AR W

5 v HeT 3TIEHATHT F TIH T

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:

Sub-Section I d:

Question Shuffling Allowed :

Question Id : 667455131 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (53t057)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

EEADING COMPFEEHEMNSION

6674559

2

Online
Mandatory
1

1

5

Yes

No

1
6674559
Yes



Read the following passage and answer the questions that
follow:

There was a tiny fishing village located on the shores of the sea
in Japan. Near the village was a mountain owned by a very
generous old man called Hamaguchi. He lived atop the hill with
his grandson. Yoshi. Hamaguchi knew that the villagers had no
place to grow food so he allowed them to grow rice on the
slopes of the hill. Yoshi loved to help the villagers on the fields.
One day. after everyone had gone back home Yoshi too headed
home. He saw his grandfather standing solemn and still outside
their house. simply staring into the sea. Something was wrong.
Yoshi called out to his Grandfather but got no answer. He called
again. This time grandfather looked up suddenly. as if coming
out of a trance. "Hurry. Follow me and do as I say." said
Hamaguchi to Yoshi. Yoshi followed him into the house.
Hamaguchi went to the fire place. grabbed a burning stick. He
asked Yoshi to do the same. Yoshi was totally confused but he
did as he was told. Both ran out into the fields with the burning
sticks. Then Hamaguchi threw his stick into the rice field and
ordered Yoshi to do the same. Yoshi was aghast. But he obeyed.
Soon the fields were ablaze. Then they heard a rumbling sound.
It was the villagers. who on seeing their fields on fire were
running up with buckets of water. When they reached the top. it
was too late. The fields were engulfed with fire from all sides.
"Why did you destroy our fields?” asked the villagers angrily.
Hamaguchi simply bowed his head and pointed to the sea. The
villagers turned to look. They saw a giant wall of water rise from
the sea. It was becoming higher and higher and was rolling
towards their village. Before they could think of anything it had
struck the village. smashing everything ---- their houses. boats.
docks and stores. The anger soon turned into shouts of relief.
"He saved us! He has saved us from a tsunami." Yoshi now
understood that sometimes cruelty could be the greatest act of
kindness.
Sub questions

Question Number : 53 Question Id : 667455132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following options is NOT correct to fill in the
blank?

Hamaguchi was a man.
Options:
1 # rich

o o Crazy
= # considerate

4 % caring

Question Number : 54 Question Id : 667455133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hamaguchi set the rice fields on fire to

Options:
1 % ward off fear of the tsunami.

> % punish the villagers.
5 » save the village property.

4  Aalert and save the villagers.

Question Number : 55 Question Id : 667455134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hamaguchi bowed his head in

Options:
1 & SOITOW

5 % JOYy
3 # shame

4 % embarrassment

Question Number : 56 Question Id : 667455135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When the villagers saw what Hamaguchi was pointing at.
they were



Options:
, w Aagitated

> o relieved

5 w Jjoyful

4 % sorrowful

Question Number : 57 Question Id : 667455136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What lesson did Yoshi NOT learn from this episode?
Options:

, « A child has a right to question elders

> % Never doubt the wisdom of elders
= % Hard decisions have to be taken sometimes

4 % Inemergency action is better than suggestion

Question Id : 667455131 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 667455132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T AR T T T & = &
T weg =@ &

gATRT TH HTSHT Tl
Options:

1_&-3%
5 OTETel

o ® ﬁﬂmﬁﬂ'

4 % SESTE e FTel

Question Number : 54 Question Id : 667455133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FACEN & TG F BT H FAT HET S &2

Options:

it AT & ST W 99 WA F v
. » THOT # EET w F o
5 % MG I F9led o T & T

, v TAEAr T FTHUT F TS F T

Question Number : 55 Question Id : 667455134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
EATTE & HAT I 7 g

Options:

A lca
. w HTEeG

o ® 317-;1'
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Question Number : 56 Question Id : 667455135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S AT A @ fF FAEET W AR FRE W R
goar T 1

Options:

1 ® ﬁﬁ?%ﬁ'm
. » TEa & aF R
5 » AT & T

, » 3G g T

Question Number : 57 Question Id : 667455136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Tl & Y TFIOT ¥ AT HEF Agl Hr@?

Options:
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OUANTITATIVE AFTITULE
Section Id : 66745510
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 66745510
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 667455137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The compound interest eamed by Suresh on a cermain amonant at the end of two vears at the rate of 8% p.a. was T 1,414.40,
What was the total amount that Suresh got hack at the end of two vears in the form of principal plus interest eamed?

Options:
% 3941440

o  T9.914.40
2 % $9.014.40

4 % T8914.40

Question Number : 58 Question Id : 667455137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I AW & 9 & Hg A vs Wiaw offr w8 9ftem ailtw g W AT wea s ¥ 1414.40 =
HEE U S 8 & WIS & HA H G F we g g i a6

Options:

. % T 9,414.40
. v T 9,914.40
- » T9,014.40

. T 8,914.40

Question Number : 59 Question Id : 667455138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What approximate value should come in place of the question mark (?) in the following question

1524.79 x 19,92 + 40526 =7
Options:
. % 33,000

, % 78,535

2 v 31.000



4 % 26575

Question Number : 59 Question Id : 667455138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e mF 7 W R (7) § AUE W A 75 F0 g AiRTT (T #ET S 96T @9
HITITHaT Fal 2)

152479 = 1982 + 48526 = 7

Options:

. % 33,000
. » 78,535
- v 31,000

. % 26,575

Question Number : 60 Question Id : 667455139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Oyt of the total oumber of students in a college 12%%5 are interested in &pnns.% of the wotal mumber of studenis are interested
itt dancinz, 10% of the total number of smdents are interestad in singing and the remainine 15 studehis are not interested in
any of the activities. What iz the tofal number of students in the collepe?

Options:

1 ®% 450

5 « 500
3 % 600

4 % Cannot be determined

Question Number : 60 Question Id : 667455139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
aﬂmﬁmﬁﬁ'm#ﬁm%mm:iﬁm%‘:mﬁ#rgmﬁmﬁﬁfmaﬁ'ﬁﬁ
TEe ¥ o Fr 5 wEE & ® 0% o o # o w@En £ i 9w 15 ore o fed o Rt &
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Options:

. % 450

- » 500



. = 600

4 B igu Iifﬂﬁmmm

Question Number : 61 Question Id : 667455140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will come in place of the question mark (?) in the following number series?

13° B 5 6 114 .
Options:
1 ® 19

Lh

2_332

]
€
—
-]
Lh

NN
%
| ]
I-J
Lh

Question Number : 61 Question Id : 667455140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e a&r s@er 7 9id ®Ed (?) & TUH W FAT AT?

13 B 5 6 i v
Options:

= % 175

L 225

Question Number : 62 Question Id : 667455141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Mitali can row a boat in still water at a speed of 15 km'h. The speed of the nver stream 15 3 kin'h, Mitali rows {from pomd
A) tir & place (point B) amd comes bacl in 1.5 hours, ‘What is the distames belween A and B?

Options:

. % 10.5km

> % 10.6 km



= # 10.7km

4 « 10.8 km

Question Number : 62 Question Id : 667455141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% 10.5 fFahr

. % 10.6 TRy
2 % 10.7 TR

4 v 10.8 f5al

Question Number : 63 Question Id : 667455142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
(0.325)° +(0.343)° —(p.6628)* (0.1 -(0.01)F

— +1 is:
2.4(0.325)(0.49)(0.167) 0.0001

The value of
Options:
2 o 99

s % 100

4 % 101

Question Number : 63 Question Id : 667455142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

33 3_ 3 2_ 2
{(0.325) +{?.34:{1 (0.668) " (0.1*—(0.01) +1 T AT AT %.7
2.4(0.225)(0.49)(0.167) 0.0001

Options:



2 = 100

4 % 101
GEMEREAL MEMTAL ABILITY AND REEASONING
Section Id : 66745511
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 66745511
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 667455143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Study the following letter-number sequence 1o answer the question below:

E&GBDMANKH2ZACZSVIFIILOQSPR

If it is possible to maks 3 meaningfiol word with the first, the twelfth, the fifteenth and the tweaty-first letters, then which of
the following will tre the first letter of that word? T no such word can be made, give X as your answer and if more tham one
such words can be made, give M as your answer,

Options:
1 ® E

4 v M
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Options:

1 % E
o> R T
z ® X

4 v M

Question Number : 65 Question Id : 667455144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Firul the two letters in the word EXTRA which have as mmmy letters betwen thern in the word as in the alphabet. I these
two letters are arranged in alphabatical order, which letter will come second?
Options:
1 ® A
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Options:

IHA
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Select the option that is related to the third word in the same way as the second word is related to the first word.

South : North-West : - West : ?
Options:
1 % South-west



> « North-east
= % East

4 % South
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Options:

|« RO

> v S

4.%3@“
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In the question given below, there are two statements labelled as Assertion (A) and Reason (R).

Mark your answer as per the codes provided below:

Assertion (A): Diamond is used for cutting glass.
Reason (R): Diamond has a high refraction index.

Options:
, » Both A and R are true and R is the correct explanation of A.

-  Both A and R are true but R is not the correct explanation of A.

= % A 1strue but R is false

4 ® A 1s false but R is true.
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Correct: 1 Wrong: 0
Read the paragraph carefully and answer the question given below it

Ome of the important humanitarian by-products of lechnology 15 the greater dignity and value that i1 imparts o burnan
labour. In & highly mdustrialized society, there is no essential difference between Bratumin and Dalit, buslim and Hinduo:
they are equally usefl and hence equally valuable, for in the industrial gociety mdividual productivity fxes the size of the
pay cheque and this fixes social status.

This paseame best supports the statement that:
Options:

, = Technology decides individual’s social status.

- % Castes and religions are man-made.

5 Human labour has dignity and value.

4, » Allindividuals, irrespective of caste and creed, are born equal.

Question Number : 68 Question Id : 667455147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Four pairs of words are given oul of which the words m three pairs bear a certain corromoen relationship. Choose the pair in
which the words are differently relatad.

Options:
1 % Chaff : Wheat

> % Grit ; Pulses

-  Grain : Crop

4 % Dregs:Wine
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Question Number : 70 Question Id : 667455149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Consider the following statemments about Bahnl Bhattacharva, who won the prestipions Roval Society of Literature Ondaatye
Prize, 20012:

|, Hewas awarded the Ondaatje Prize for his book, “The Sk Company of Teaple Who Care’.
2. Heis a crickel jonrmalist.

Which of the statetnents given above izfare cotrect?
Options:

, % onlyl
- » only2

= « Both 1 and 2

4 % Neither 1 nor 2
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Question Number : 71 Question Id : 667455150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
In the context of global economy. which one of the following pairs is NOT correctly matched?

Options:

, w JP Morgan : Financial Services Chase

5 of Roche Holding : Financial Services AG

- % WL Ross & : Private Equity Co. Firm

4 % Warburg Pincus : Private Equity Firm

Question Number : 71 Question Id : 667455150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 97 A : faed @ar AW (Financial Services Chase)

, » T @feser : Taelw Tar e (Financial Services AG)
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Correct: 1 Wrong: 0
The Green Revolution in India was the outcome of the efforts of who amongst the following?

Options:
1 « M. S. Swaminathan

- % C.Rangrajan

z % K.V. Kamath

4 % Rakesh Mohan

Question Number : 72 Question Id : 667455151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 73 Question Id : 667455152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is given the power to implement the Fundamental Rights by the Indian Constitution?

Options:
1 % All courts in India
- % Ihe parliament

= % The President

4  Thesupreme court and high courts
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Correct: 1 Wrong: 0
Consider the following techniques/phenomena:

Budding and grafting in fruit plants
Cytoplasmic male sterility
Gene silencing

L R

Which of the above is/are used to create transgenic crops?
Options:

, = onlyl

> o 2and 3
z % land3

4 % None
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Question Number : 75 Question Id : 667455154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following founded the Theosophical Society in India in 18797

Options:

, « Madam Blavatsky and H.S. Olcott

» % Madam Blavatsky and Annie Besant

= % H.S. Olcott and Annie Besant

4 % A.O.Hume and Annie Besant

Question Number : 75 Question Id : 667455154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Wormens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the yvear. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.

Restricted/ Unrestricted: Unrestricted

Par agraph Display: Yes

Evaluation Mode: Non Standard

Keyboard Layout: Inscript

Show Details Pandl: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes

Allow Back Space: Yes

Show Back Space Count: Yes

Actual
Group Number : 3
Group Id: 6674556
Group Maximum Duration : 15
Group Minimum Duration : 15
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 0

English Twyping Test

Section Id : 66745514
Section Number : 1
Section type: Typing Test

Mandatory or Optional: Mandatory



Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 66745514
Question Shuffling Allowed : No

Question Number : 77 Question Id : 667455156 Question Type: TYPING TEST Display Question Number : Yes

Most people have a general idea about what they want for their lives. The capacity to relay that vision to others
is the real challenge. This is something that sets apart a leader from the rest, and if you want success in your
life, you need to become a focused leader. The main quality that all leaders share is that they have a clear and
exCiting vision for the future, as well a5 possess the ability to cormrmunicate that vision. Only a leader carn think
about the future and plan for the future each day. Hence, it is5 ideal to mold your activities in a manner that
helps you evolve a5 a successful personality. To begin the process, you mnst know how 1o Corrumunicate your
vision. Excellent leaders take some time to think and dewvelop a clear picture of how their life will look in one,
three or five year increments. They hawve the ability to disserminate their idea of a successful life that others
by in. Eventually, others see the vision as belonging to therm. You can also motivate people to give their best
by simnply communicating your vision to others. Easically, it is the vision of the future possibilities that arouses
ernotion and encourages people, your team or fellow colleagues to drive results. Always remember that the
most poweer ful vision is always qualitative, aimed at and described in terms of values and mission. [t should
never be described in terms of money and numbers. Of course, meoney is important. But, the cormrmitrnent
towards being the best in the business or any other task is far more exciting. Another key to leadership success
15 to keep vour cool. A study examined the qualities that cormpanies look for in promoting yourng rmanagers
toward Senior executive positions, especially the position of Chief Executive Officer. It concluded that there are
two irmportant qualities required for great success. The first is the ability to put together and function as part
of a team. [n an organizational setting, all work is ultimately done by teams. The output of a manager is the
output of the team. The ability to select tearmn members, set objectives, delegate responsibility and finally, get
the job done is central to success in management. The second leadership quality is the ability to function well
under pressure, especially in a crisis situation. Practically spealkdng, it is these Ccritical morments, when the
actual character and quality of a leader is demonstrated. Everyone is watching you, observing and taking
notes of your behavior. This why you should keep your cool and focus on what vou want. Eventually, all the
blarning stuff would get neglected, and you will evolve as a shining leader.
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